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Sub-Section Number : 1
Sub-Section Id : 873265196
Question Shuffling Allowed : No

Question Id : 8732654984 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

1-5 Questions : Read the following passage and answer the
questions that follow :

Qur present idea about the motion of bodies dates back to Galileo
and Newton. Before that people believed in Aristotle, who said that the
natural state of a body was to be at rest and that it moved only if driven
by a force or impulse. It followed that a heavy body should fall faster
than a lighter one, because it would have a greater pull towards the
earth.

The Aristotelian tradition also held that one could work out all the
laws that govern the universe by pure thought: it was not necessary to
check by observation. So no one until Galileo bothered to see whether
bodies of different weight did in fact fall at different speeds. It is said
that Galileo demonstrated that Anstotle’s belief was false by dropping
weights from the leaning tower of Pisa. The story is almost certainly
untrue, but Galileo did do somethmg equivalent: he rolled balls of
different weights down a smooth slope. The situation is similar to that of
heavy bodies falling vertically. but it 1s easier to observe because the
speeds are smaller. Galileo’s measurements indicated that each body
increased its speed at the same rate. no matter what its weight. For
example. if you let go off a ball on a slope that drops by one meter for
every ten meters you go along. the ball will be travelling down the slope
at a speed of about one meter per second after one second. two meters
per second after two seconds. and so on. however heavy the ball. Of
course a lead weight would fall faster than a feather. but that is only
because a feather is slowed down by air resistance. If one drops two
bodies that don’t have much air resistance. such as two different lead
weights. they fall at the same rate.

Sub questions

Question Number : 1 Question Id : 8732654985 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Our preset idea of motion dates back to ?
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Options :

Aristotle

1. #

, » Plato

Copernicus
3. %

Galileo
L

Question Number : 2 Question Id : 8732654986 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the Aristotelian tradition the laws of the universe can be
understood by ?

Options :
Logic
1. ¥

Thought
2. ¥

Faith

3. %

Observation

Question Number : 3 Question Id : 8732654987 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following falls down faster?
Options :

Feather
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, » Ball

Nothing

3. %

Lead

4.9

Question Number : 4 Question Id : 8732654988 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the word 1n the passage which means ‘opposition’?
Options :

~ Logic
1. % =

Thought
2. ®

Faith

3. %

L Resistance

Question Number : 5 Question Id : 8732654989 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the antonym for ‘equivalent’ in the passage
Options :

Identical

Simular
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Difterent

3.¢

. Opposite

4.

Sub-Section Number : 2
Sub-Section Id : 873265197
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 8732654990 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The match by the time we reached the stadium.

Options :

had started

1.«

was starting

2. %

would have started
3. %

started
4, %

Question Number : 7 Question Id : 8732654991 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My mobile phone 1s stolen (Choose the correct Active Voice)
Options :

Some steals my mobile phone.

Someone has stolen my mobile phone
2.¥
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A thief has stolen my mobile phone
3. %

My mobile phone is stolen by someone.

Question Number : 8 Question Id : 8732654992 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend “Stop smoking” (Choose the correct Indirect Speech)

Options :

I ordered my friend that he should stop smoking

1. ®
I advised my friend to stop smoking
2. v
I told my friend that smoking 1s injurious to health
3%
I requested my friend not to smoke
4. %

Question Number : 9 Question Id : 8732654993 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She was ignorant. She admutted it. (Combine these two sentences into
one Simple Sentence)

Options :

She was 1gnorant but he admuitted it
1. ®

Being 1gnorant, she admitted 1t
2. %
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Despite her ignorance, she admitted it
3. %

She admitted her ignorance
4.9

Question Number : 10 Question Id : 8732654994 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the correct sentence among the following :

Options :

One of the boys are making lot of noise in the class.

1. #
Furnitures are properly arranged in the hall.
2. ®
He 1s too weak to walk
3.¢
I could not be able to get through the examination mspite of my
hard work.
4. %

Question Number : 11 Question Id : 8732654995 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate preposition:
She has got lovely gold bangles her arm

Options :
n
by

2. % B
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on
3.¢¥

at

Question Number : 12 Question Id : 8732654996 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the tense in the following sentence:
How long have you been reading that book?
Options :
Past simple

1. #

Present contimuous

Past continuous

Present perfect continuous
4.9

Question Number : 13 Question Id : 8732654997 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct spelling:

Options :
Playwright
1. ¥
Playright
2. ®
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Playwrite

Playerite
4. %

Question Number : 14 Question Id : 8732654998 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Transform the following Simple sentence into a Compound
sentence :

Being a vegetarian. she doesn’t eat meat.

Options :

She 1s vegetarian; she does not eat meat

1. ¢
She. a vegetarian do not eat meat.
2. %
She 1s a vegetarian, so she does not eat meat.
3. %
She 1s vegetarian. ...not eat meat.
4. %

Question Number : 15 Question Id : 8732654999 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Turn into direct speech :

Ramya told me that she wants to go to Canada next year.
Options :

Ramya said, “T want to go to Canada next year”.
1. ¢
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Ramya says, “I want to go to Canada next year”.

2. %
. Ramya said, she wishes “to go to Canada next year”.
3.
Ramya says, “T wanted to go to Canada next year”.
4. %

Question Number : 16 Question Id : 8732655000 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the synonym for the word ‘Synonym’?
Options :

Supremacist

Opposite

2. ®

Similar
3¢

Infinitude

Question Number : 17 Question Id : 8732655001 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Turn into reported speech :
I am going away for a few days.
Options :

She says she 1s going away for a few days
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She said she 1s going away for a few days

2. %
) She said that she was going away for a few days
3.9
She said that she is going away for a few days
4. %

Question Number : 18 Question Id : 8732655002 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Choose the correct sentence.
Options :
Her hairs were grown

1. #

Her hair is grown
2.

Her hair are grown
3%

Her hairs are grown
4. %

Question Number : 19 Question Id : 8732655003 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
He tried to kill the snake. 1t went mto the anthill.
Options :

mstead

for
2. 8
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still

3. %

however
4.

Question Number : 20 Question Id : 8732655004 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
He crossed Indian ocean twice.
Options :

the
1. ¢

a1l

zero article

Question Number : 21 Question Id : 8732655005 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following is the correct sentence?

Options :

Ranadhir 1s going to arrive tomorrow

1. %
Ranadhir will have arrive tomorrow
2. %
Ranadhir will arrive tomorrow
3¢
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Ranadhir will be arrive tomorrow

Question Number : 22 Question Id : 8732655006 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct sentence.
Options :

The porter insisted helping us with baggages.
1. ®

The porter insisted to help us with our baggage.
2. %

. The porter insisted to carry a baggage.
3,

L The porter msisted on helping us with our baggage.

Question Number : 23 Question Id : 8732655007 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In which sentence is the Article “an” used correctly.

Options :

He eams an about thousand rupees a month.

Shakespeare is an renowned dramatist .
2. %

I had never visited an hospital before.
3. %

He has been here about an hour.
4.
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Question Number : 24 Question Id : 8732655008 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the sentence in active voice.

Options :
A Kkite 1s being made by the boy.
1. #

She was admired very much by him.
2. %

English 1s spoken (by people) in many countries.
3. % )

Somebody set the huts on fire.

Question Number : 25 Question Id : 8732655009 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One word Substitutes.

A thing occurring again and again for a long time
Options :
anachronism

expatriate

chronic
3¢

coincident

General Knowledge
Section Id : 873265164
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Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265198
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 8732655010 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In May 2024, who was appointed as the President of GST Appellate
Tribunal?

b
Copd &y Sddat - G-t =7 O lem,o’*‘.
A S ”
Fé":,/ (_}/e&fwwﬁ

Options :

Justice (Retd) K.G.Bala Krishnan
b £ () st

1. ®

Justice Surya kant

ekl ot

Justice (Retd) Sanjaya Kumar Misra

P &‘f[,f—/ (‘jﬂr‘f’)(mf}“”

3.¢¥
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Justice A.S.Bopanna
b

by et (A

Question Number : 27 Question Id : 8732655011 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

g01.digialm.com/CAE/viewHtmIPDFAction.action

The scientists discovered the deepest “Taam Ja” blue hole near which

country
|

AL
" TArwm IH'A:WWIJL‘JLQ}}JL

Options :

Mexico
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Chile
wt

Question Number : 28 Question Id : 8732655012 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Delhi Sultan was known as “Prince of Moneyers™?

a . , Ve
P¥imca % Mowsyevs ' v L g
§ e"’u.’ (T_'/

Options :

Alauddin Khalji

Y
1. ® (’SPQ/J

Firoz shah Tughluq

G s

2. %
Balban
3. % O*L
Muhammad bin Tuglug
B (o 2
4.9
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Question Number : 29 Question Id : 8732655013 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gandhiji withdrew the non-cooperation movement because of

w e . ‘ 3
%J f(-_}jp‘xlr’,tf L(f@,y‘vydi ,Iff o
WPt
Options :

Chauri-Chaura incident

AR . 2

1. v

Jallianwala Bagh massacre

S—-l&' d;; 4 ﬁ_L s C)"I—L’

2. %

Gandhi-Irwin Pact

splon oy )-pi¥
3. % ‘

Poona Pact

YA

4. %

Question Number : 30 Question Id : 8732655014 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Which of the following was not the work of Rabindranath Tagore?

¢ S g .- "
oy sl il a0 s 2

Options :
Gitanjali

7
St

Anandmath

pb ot

2. ¥

(Ghare-Baire

P

3.

Gora
W
29

4, %

Question Number : 31 Question Id : 8732655015 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rukmini Devi Arundale was famous dancer in
L P, Gl G . 7/
157 3O A i s s
¢ (4 ~ ¥y

Options :
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Kathakali

HiS

Kathak
v - 2

e

Bharatanatyam

L
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Question Number : 32 Question Id : 8732655016 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was the highest water fall in India?

2T P Gl s a s e

Options :

1.

https://g01.digialm.com/CAE/viewHtmIPDFAction.action

Athirampally water falls
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Kunchikal water falls
> N ¢
L
5

Hebbe water falls

Pl S

2. ¥

3. %
Jog water falls
oLt Sy
4. %

Question Number : 33 Question Id : 8732655017 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Seismology is the study of
p ) e Vi Se:bualaagf "

Options :
Volcanoes

Ol T

Cyclones

3 5 sd
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Earthquakes
L
3. ¢
Tsunamis
(b
4. %

Question Number : 34 Question Id : 8732655018 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the first Chairperson and Managi .
Bharatiya Mahila Bank? aging Director (CMD) of

/f g n ' f' - L}
- ’ M v o les
__lﬁ:‘::‘ /; é?-/,‘/:,/:;, %;' z __.AJ:_‘:" _t -~ %

(B of (cmd )

Options :

Usha Ananthasubramanian

(i L o) gt

1. ¥

S.M.Swathi
G @l
Leena Nair

b U

3. %
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Roshini Nadar

/‘;L‘ @:43

4.

Question Number : 35 Question Id : 8732655019 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Narasimhan Committee-IT was appointed to recommend reforms on

I = # . ¥y
W gl g L Bl o

—

Options :

Insurance sector

1% ":L?Cfv:"fﬁ
Poverty
w4
2. % /
GST
b
3-o2t-62
3. %
Banking sector
' A
o2 § Doti,
4. :

Question Number : 36 Question Id : 8732655020 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Part IIT of the constitution of India deals with
.;-_*"f(‘;k,;du/, s Wbt LU
Options :
The Union and its Territory
g Vo o ér-:‘"{

1. ®

Citizenship

T

2. % -

Directive Principles of State Policy

ol oy £yt b

3. %

Fundamental Rights
- (_}'}9" (5> L~

Question Number : 37 Question Id : 8732655021 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the first Chief Election Commissioner of India?

o
-, i ' " _

Options :
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S.P. Sen Varma

L, g’ -g -

1. ®

Sukumar Sen

W/b\,f:/

2. ¥

Kalyan Sundaram

[—'J»"-/ ©, L’-'!’r

3. %

T. Swaminathan

Uﬂrc(j"l"j'(;

4, %

Question Number : 38 Question Id : 8732655022 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the theme of International Farth Day 20247
/ " "
. ‘F‘Peﬂf 4 jﬂh&'\wi'imf&'ﬂﬁ Doy - 2024
Options :

Invest in our planet

1. ®
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Restore our earth

Bb Syt ol

2. ®

Planet vs plastics

A fle oyl

3.¢¥

Protect our Species

b'j/rf-fd)}..-: cr'f(:}f

4. %

g01.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 39 Question Id : 8732655023 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Jim Corbett National Park was mainly the reserve of

A0 Ten Covpat Nakiowal Pk

Options :
Tigers
A
-
1. ¢
Lions

Rhinoceros »
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Crocodiles
I

F

% 7

Question Number : 40 Question Id : 8732655024 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the name of the document maintained by IUCN about the rare
and endangered species of plants and animals?

z C;'yl sbs> d;}j e bl 09l Ly s
/ - el .
fqy{\f,‘_é./ Q;L_./gf[fuf,f/ i LU CN & a—,xuf,
Options :

Green List
y
S @;,/

Red List
Sl }:_u

2. ¥

Black List
ol S
®

3.

Yellow list

salish

Teaching Aptitude
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Section Id : 873265165
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265199
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 8732655025 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The role of a facilitator in classroom is
i, T - .
b bl szVLJ_r;* o st g/
Options :

To dictate information to students

bl ls lgten 50

1. %
To guide and suppurt student leaming
dld-’ Gt LJ-' J (,v
2.
To admin.ister tests
/£ eni S -
{./. > L-vl P Clsm /
3. %
To discipline students
/
4. ® | (JV
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Question Number : 42 Question Id : 8732655026 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Primarily the development of child is depend on

ey o L LR Sy
Options :

Parents

exAb

Society

e

School climate

dole (o101

3. %
Environment
o Ul
4. &

Question Number : 43 Question Id : 8732655027 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The position of the teacher is teaching learning process.
'3 : 5
sl bl o o gl (o

Options :
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a leader

Lass

1. ¢ .

a dictator
P

/I /
a member

r 7
o 4

a director

/—':’3!,’: /fr

4, %

Question Number : 44 Question Id : 8732655028 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Effective teaching is a function of

! . r
—— 5 o (V) i S
Options :

Teachers satisfaction

O beb! ¢

1. ®
Teacher’s honesty and commitment
: ~ 2T
A 3l erwle) HHB
2. %
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Teacher’s making students learn and understand

;
U S 62 g o0 pae S

3.¢¥

Teachers liking for professional excellence.

fi f Fa v
) 5,1},.,, pL pl s ind ool
4, - - '

Question Number : 45 Question Id : 8732655029 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the term “learning style” refer to?
f)/’/?rc:'-‘f " s easin; g S‘})'L 7 s
Options :

The speed at which students learn
i ’
) 3 3o

The preferred way a student learns best
B o (0 o b e o

The number of subjects a student can learn

¢zﬁ;{/},§/rpqw,fp!«5' HA

The location where learning takes place.

mp by g6 Vaskrdle o o

4. %
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Question Number : 46 Question Id : 8732655030 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does “cognitive development” focus on in the context of
education,

L

o g B G P 62 S L
Options :

Physical growth of students
L gl S ot

1. ®

Emotional intelligence

b s

Mental processes and skills like problem solving and critical
thinking. .
1"‘ - £ Fa o L, _’.' a"’)
By G ! LA (Jo e et (s 2 Ja

3. ¢

Social interaction among students.

O U5 olglro Lr 2w

Question Number : 47 Question Id : 8732655031 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Interaction inside the classroom should generate

v TS g s @b b of o o te o

Options :
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Argument
L]
T,

Information

3.¢

Controversy

o

Question Number : 48 Question Id : 8732655032 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following statement is correct.
- i ;r /t:“‘
-t St> U.t:;'f’(),’f C}: s
Options :

Syllabus is annexure to the curriculum

7’ ' ™ L!
ﬁgw.::-'._g(ﬁuea}vf(s: =

1. ®
Curriculum is the same in all educational institutions.
' ra 5 -
.;f-—‘-'(..u olr o ur/’ﬂ'@.':"f’t"
2. %
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curriculum include both formal and informal education.

%(}-L'?(l:’ro,_/zﬂ}fﬁ@‘/" 03“"’[‘&'0"1‘;

3.9
Curriculum does not include method of education.
'? f 1 i ¥ < 2
bl f 1 S lared N 7o
4, % O

Question Number : 49 Question Id : 8732655033 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which is the least important factor in teaching

f Ll
— o Wy ) P o

Options :
Punishing the students
o 1 5wt
1. v

Maintaining discipline in the class

/...
tﬁ)/yﬂw; O‘:L.&-‘('Z-y(

2. %
Lecturering in impressive way
- '} ‘_, r fr
Ot gp S o e

Drawing sketches and diagrams on the black board.
/ ; - il
W ,:“;j YL [!/,;:’,y/;/ egrd

4. % A
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Question Number : 50 Question Id : 8732655034 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ability to learn by an individual is
Ao, o o,
b ol G b o gt
Options :

Acquired by the individual

youb = 2

1. ®
Developed by the teacher
P
?’/‘ (:." 25 > )
2. % B
Absorbed from environment
Y
C /o = d ol
3. % /
Occurred from within
t . .___J ' . /
3 Ry ad
» 7 & ,;f/;"

Physics
Section Id : 873265166
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265200
Question Shuffling Allowed : Yes
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Question Number : 51 Question Id : 8732655035 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a variable mass system, what causes the changes in mass
. - o
- Lt i
M?:;(_?/C-PJ A o b Qo () ik s
L - * - - = -

Options :

External mass

e
Lk Lo
1. ® -
Internal force
T pd st
2. &
Conservation of momentum
sl
5 bew & (U
- (N 7 ) e e,
Conservation of mass in to energy.
- Sy 0 e T
Laraedlly & Sbesl (5
4.4

Question Number : 52 Question Id : 8732655036 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 36/114



6/13/24, 11:47 AM g01.digialm.com/CAE/viewHtmIPDFAction.action

In Rutherford experiment on scattering of a particles by a metal foil, the
scattering cross section depends on the angle of scattering @ as

o GIIIE SN S o o F S 8

1 . - C . " Y
“@”,_—;Uj}c_gw;r&}pc&;a/@ﬁ VCJ!J‘%'—J;{
- O o) ssle
Options :
sin? @

1. ®

sin‘ @

3.¢¥

Question Number : 53 Question Id : 8732655037 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Euler’s equations are primarily concerned with the conservation of

/.-' - ' n ~
q&(dﬂﬂiwuf’i/;',y‘:")&#’ o Ll st T

Options :

Mass only
/

k50

1. ®
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Momentum only

sl -

2. ®
Energy only
Foo fows
el)iyzr
3%
Mass, Momentum and energy
1 ' T ~ =4
Q UIY st Sy rslre s
4.9

Question Number : 54 Question Id : 8732655038 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Keplers third law relates the period of planet’s orbit (T) to its
) Lo £ = S
CT) )2 G0 ey b Qi ’,:Md",/*:_f"-z’/";"’
e Ll Ol e O Gy
Options :

Essentricity (¢)

Ce) Ca_1*

Semi major axis (a)

(m)/;f (.JMJA‘U
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Orbital inclination (1)

Cpallr ¢yl

3. %
Longitude of perihelion (w)
dab Ve e,
4. %

Question Number : 55 Question Id : 8732655039 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following equation represents the Galilean transformation
for the position of an object along the x-axis?

C}JJC?L/" -ﬂ_éf(_,ja;/rdci ’}%/_1{_34_;7_&4@/2_..{“; - X
LA e TS5

Options :

b= — pt
1. %

x!=x + vt
2.

xl=x—-1t
3, %

i [

X =x+t
4. %

Question Number : 56 Question Id : 8732655040 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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One of the basic postulates of special theory of relativity is.

&Cﬂ"t_—: L"J_/JW-L VJ CVWL\___AU W‘I
4By “:*’31’::’
Options :

Time is absolute

by alkeles
Mass does not change with velocity
ol
o . i 7
L S Ll Bs )
2. % -
Speed of light is constant
r ! / '
3. ¢
Both 2 & 3
A OYs 2 12
4. %

Question Number : 57 Question Id : 8732655041 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The total energy ‘E’ of a simple harmonic oscillator of mass
‘m’, frequency ‘/" and amplitude *a’ is
/

P ool D15 AT LT x foasd M D
_ ‘E"(Eb-’JLKHJJ/_/JJM!

Options :
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HZ fzazm
1. ®

eRe it m
2.

2 £2

- 2me feam

2m? f2am?
4. %

Question Number : 58 Question Id : 8732655042 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

What does the quality factor (Q-factor) of a resonant system indicates?

_.{f..--/_J/JU’ ~ (e @)d’L‘ﬁ&’WL/(oCLJJJj

Options :

The amount of energy dissipated per cycle.
SU13 Qlrsy dliart 227 s

.
PN

The sharpness of resonance
. r e,
Poh IS

2.

The frequency response range of the system

Pl , 4
MQMQWL}(UJ
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The maximum amplitude of oscillation

r—"'-’ycyv"’fh;”“x‘/‘""

Question Number : 59 Question Id : 8732655043 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Fourier analysis of a square wave gives

AU S F 1 Gl

Options :
_a  4a 1 1
is i o [cusmt + 7 cos3wt + 5 cosSwt + ]
1.
=242 lsinmt + = sin2wt + = sin3wt + ]
2w 2 3
2. %

Y=E [sinmt + % sin3wt + % sinSwt + ]

T

Y=fn5 [sinwt + -:— sin3wt + ';T sinSwt + ]
4.9 )

Question Number : 60 Question Id : 8732655044 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which property of ultrasonic waves makes them useful for non-
destructive testing (NDT)

Bl ol s st ool b ST 0 702 UL
g - o, Gl A WNa7)
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Options :
High frequency
PPV
1. ¥
High amplitude
2. %
Low speed
3. %
High absorption
eIPAr? o
4. % ‘ '

Question Number : 61 Question Id : 8732655045 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The condition for constructive interference between two light waves
having

; ¥ e 0 i S S A
_4,;3: U3 S camdd O ey 3 a,;»(:-’d Coukt g ) 9.5
Options :
Phase difference in an odd multiple of 7

_ﬂt,f;,wxaur R G o

1. ®
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Path difference of (2n + 1}2—

JOLwly Eamad )y,

Path difference of ni
s ol & g

3. ¥

None of the above

, A
_ s a3

4. %

Question Number : 62 Question Id : 8732655046 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

A convex lens of focal length 84c¢m and dispersive power 0.021 is
placed in contact with a concave lens of dispersive power 0.002 to make
an achromatic combination, the focal length of concave lens should
be ;

,J),c[___,,};_‘}l_:u;:w(.lvujwfil@-w_r /;ldj(ﬁuufﬁ@g
P @U’é-/ﬁ/ﬁff’:‘”d'b L_Z-c;ucfjtu-ﬁfa-m?_sj/.
s 2 S (L) S p ) TS

& Ly ol Gwte
Options :

gcm

1. v /_‘._uﬁ
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dem

G

2cm

3 /"-"’.2.

10cm

S
W/d‘

Question Number : 63 Question Id : 8732655047 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The movable mirror of michelson’s interferometer is moved through a
distance of 0.02603 mm. The number of fringes shifted across the cross

wire of the eyeplece of the telescope, if a source of light having wave
length 5200 Alusedis

0. 026039 wfu_/odi’f.#ﬁ&ﬂdfﬂ e Lo

dwi—"//’ld)}dugwéj"'CP'/GJ‘_JJ_,?/,J‘,&L,&/
ﬂ/oﬂwiyﬁgﬂ-’{’ G/UJ"J;)::; ¥

o LA,JL;_IQ/;J_/JWLJ- e, S

Options :
200
100

2. ¥

300
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400

Question Number : 64 Question Id : 8732655048 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which factor can be adjusted to improve the resolving power of a
grating?

..C.!-’_Jc...u..r_,J

Options :
Thickness of the grating.

LWhe v 8512

1 ®
Material of the grating
< A
ol i1 A
2. %
Angle of incidence
e > s
£ p_:ﬂJlJ
3. %
Number of lines per unit length.
& 3 .
LAY

Question Number : 65 Question Id : 8732655049 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The structure of a zone plate is such that are formed.
sl -~ b . ks
o I,Q,;f},'?-/iuﬂlwhud,__.ukg _t
Options :

A series of concentric rings with alternating and opaque zones.

a;jﬁé:&@a’@ﬁ J e sdslae

. rasdows & =
1' i
A smooth curved surface.
g e e
2. %
A series of parallel lines
Sty pr sy S
3. %
A grid of pixels.
AR
4 el
4. %

Question Number : 66 Question Id : 8732655050 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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A glass tube of ]ength 15em contains sugar solution, that it rotates plane
polarized lght by 11° the mncentratmn of sugar solution is
when its specific mtauon is 66",

. [;'L?LLQL,U—L/QW dég/éifall:é l«lfu 18
ci_TL lrb{ju:ﬁ;; fw_y WL_,ULJJ M_J—ﬂp

;z‘efa@d W) Jiz - éf’fufjg_J,VdJugf,gy
~ cle 4¢°

Options :
0.011 gm/ce
. e e
0.22 gm/ce
L. e/ 1 fon
0.11 gm/ce
L, e [PLF o
11 gm/ec
A
s ) ('./-'
4.%

Question Number : 67 Question Id : 8732655051 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Light rays is incident on the surface of glass plate at an angle 60°. The
entire reflected light is plane polarized, the refractive index of the
material of the glass plate is

/_/LC-’";'LEMCB@U-’JJ/" &a/wt{w _Jff
(g g N C?‘W——-}L)/w G- % “EL"MJU ¥ &0
o — Lﬂqw'“f&ﬂﬁcufg e cuds

Options :

Zero

1
2. ®

1.5
3. %

1.732
4.

Question Number : 68 Question Id : 8732655052 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The spherical aberration is minimized in a crossed lens by making redii
of curvature of surfaces R, and R; to satisfy by this condition.

w;uﬂr.g.l, juﬁjxj,;ﬁwy/umﬂmﬂb,u

BN 4N e Rl/j;giu,:wa,gﬂwe
W Gihr pve s S

Options :
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Ry =+6R,
1. ®
2. ¥

R1:4R2
3. %

R2=4R1
4, %

Question Number : 69 Question Id : 8732655053 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Maxwell-Boltzmann distribution curve illustrates
r o
— 1 / (1 a ; .4 - b '.J"
ol y (Jaw ] (qFFpns) Olue 3 5) d:"-/f
oy &
Options :

The distribution of speeds of gas molecules at a given density of
a gas

. o 2 &
roll-'S Gjbf)du-JL)Lw@{ﬁ{/-j?u&.*& F oA o

1. %
The distribution of speeds of gas molecules at a given pressure of
a gas.
)L") 5L Q\JJJ 4 2y
l..-ul—‘ 32578 Ldlw (_MJJ/" g
2. %
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The distribution of speeds of gas molecules at a given volume of
a gas

P T2
(el o s DM ey (7 O e

3. %
The distribution of speeds of gas molecules at a given
temperature of a gas. i
ryu Sl duUWWﬁWﬂf“”" s 5
4. ¢

Question Number : 70 Question Id : 8732655054 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A refrigerator is

Options :

Heat engine

F ) A
1. ®
An electric motor
L~ /
AIPE M)
2. ® =
Heat engine working back word
GH e o2 LC ‘/L?Jkﬂ.a/cg,f}i
3. ¢
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dynamo

oSl

4, %

Question Number : 71 Question Id : 8732655055 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Entropy of a system in an irreversible process is always

et W [ 2 i 1 B S

Options :
Constant
- (W
Zero

. /J/‘j

Increases

3.
Decreases
, L
[SYELS
4. %

Question Number : 72 Question Id : 8732655056 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The natural independent variables of Gibb’s function are ;

& g S #
QD i 8 T e G20 Lo
Options :

Entropy & pressure
b ! @ Yoo |

1. ®
Temperature & Pressure
sl ) c;“fj
2. v
Entropy & volume
F oot A
3. %
Temperature & volume
Er
4. %

Question Number : 73 Question Id : 8732655057 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following materials are commonly used in adiabatic
demagnetization process.

f(j/g/u}ftﬁwdf,“ "W/‘JJ P

.s{_,.i'f!a?'_:{‘;
- 2 Sl

Options :
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Ferromagnetic materials

s (pud Lo r

1. %
Insulators
b
2. %
Super conductors
M ds]
3. %
Para magnetic materials
"
Lt b b L
4.

Question Number : 74 Question Id : 8732655058 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Pyroheliometer 1s used for
R Jlew ﬁ)ﬂj_wﬂ){‘%’ = S
Options :

Measuring. low lf:mperature
PR M f/
1. ®

Determination ol solar irradiation

0 L s :’/waiaﬁj“

2. ¥
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Measuring the solar pressure

. A
45 57 Solen G AL s

3, %
None of the above
. o
. X G5

Question Number : 75 Question Id : 8732655059 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does the Reyleigh-jean’s law predict about the energy density of
black body radiation at longer wave lengths?

Lzt ol py I Sl ‘-’*’——"j"i‘“z G”“j
LB aly G kw2
e
ol o b

Options :

It decreases linearly with wavelength

c[.(g;g"r—’;' Jo) B7 a2 P b 1

1.v
It increases exponentially with wave length
7 -~ :\ r J’
2. %

[t increases linearly with wave length

CGbT s ) G w2yl dit 2
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Remains constant

e &

Question Number : 76 Question Id : 8732655060 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
The potential at any point inside a charged hollow sphere .
5.° L‘j _&waw WKM}_#.{DA;}J)L’
: ps : :
Options :
Increases with distance from the center

1. %
Decreases with distance from the center
-k 4 L 7/ ' 4
) -QT@LE{ML"J /-Lﬂbc-:;.,—/_r;f
Is constant
0 ) doest
3. %
Is zero
Fi) »
E_r(zji’fﬂ/\-ﬂ
4. %

Question Number : 77 Question Id : 8732655061 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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An electric dipole consists of two opposite charges of magnitude
7 x 10~%coulomb separated by a distance 2cm. The dipole is placed in an
external field of 7x10°N/c. The maximum torque exerted on the dipole is

_ .. ’ }
P Qr) LJUJ) ibjmiifua ny_ﬁ-,Li E

SN B N e Ubﬁ/gg Uity Jpuhn

#wfwlp%’/fwo)ﬁg;ﬂ Alght.lu N/C..
b H N e n L)
Options :
4x1073N.m
1. #
2x1073N—m
2.
3 % 4x10°*N—-m
2x10° N —m
4, % -

Question Number : 78 Question Id : 8732655062 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What are the SI units of Electric polarization?
s £ e
o (U 9 GV bl G
Options :

Newton / Coulomb

(4] s
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Newton/ m

e[S
2. 8
Volt/m
;-’“" }iﬂ:ﬁ
3. & -

)
Coulomb / m~

L Bl
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Question Number : 79 Question Id : 8732655063 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0
The electric susceptibility is defined as the ratio between :

: /., o) A
Ol p 16 2wl @l £ G

Options :

Electric polarization and electric intensity

SO B g3 Veabdd G

Electri¢ displacement and electric intensity

Zar Gl AVadS 3

Electric intensity and dielectric displacement

O QO AD 38 431 ar G
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Electric intensity and electric polarization

k_igllfl:j G I oz C},/;J

4. %

Question Number : 80 Question Id : 8732655064 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

A particle of charge “q’ is at rest in a magnetic field ‘B’. The force on
the particleis

)f.u\_,n.lb. JJ}JJLWJIOMB UMC@JJLM
R

Options :

Zero

4. ¥

Question Number : 81 Question Id : 8732655065 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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A coil is completely wound over the other coil, then the coefficient of

coupling is

r’t,'_,?[,[rlu}&_.mf/ﬁ,«_g

Options :
0
1. ¥
Infinity
co (an VS
2. % ¢
1
3. ¢
0.5
4. ®

g01.digialm.com/CAE/viewHtmIPDFAction.action

s b S ez
Sy W Far

Question Number : 82 Question Id : 8732655066 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

The time constant of RC circuit 1s

Options :
R/C
1. %
RC
2. ¥
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C/R
C’R

Question Number : 83 Question Id : 8732655067 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is displacement current
- (‘l r
D) f/.ﬁ = (J e (_9JJ S
.
Options :

Current flowing through a conductor
Uy cn diom W3S e

1. ®
Current induced by a changing magnetic field
- P ~ .
Yo = @Heo@@{l’w o, 0\
-k
2. % .
Current caused by the displacement of charges in a dielectric
L oy & G e BdBS 27 Uy L Al 5
- g -~
3. ¥ :
Current generated by a battery
.
o L"? b,
4. %

Question Number : 84 Question Id : 8732655068 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Hybrid parameter calculations are used in
- - ' . Al P 1 .} g
(2 idlawlon | CaF & b p . A raily
Options :

Two-Port linear network

__"_;;L;(_f_'_“,;; O_foﬂf.u‘g s

1.+
Darlington pair
s s ’-j/: ,’3.

2. %

Push-pull

G s — >
3. %

Class — A-amplifier

SR A
4.% s .

Question Number : 85 Question Id : 8732655069 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which logic gate represents the Boolean expression A+B,
. i % j 4 df G J/
g R e R
-

Options :
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NOT Gate

JJN@T

AND Gate

Q_:Ji? AN D

XOR Gate

Jf;(Xm{

OR Gate

Question Number : 86 Question Id : 8732655070 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which logic gates arc used in a half-adder?
5 . £ -~ :
v d-—(l';!ﬁ LjL(U“"" ! Cff
Options :

XOR gate only

y
ol XOR o
1. ®
XOR and AND gates
s
moﬁ/m.ﬁjjl Xop
2. ¥ - -
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AND gate only
; L)
Of'c_ﬂn’}z‘w Dos A

3. % B

OR gate only

) .‘f’ -

Ur L OR w2 f

4. %

Question Number : 87 Question Id : 8732655071 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If “n” is the principal quantum number of the orbit, the radius of the

electron orbit is proportional to
I i - / wo, J’f
@’djdj{-%gﬁ%;hﬁﬁfjﬁﬂk/dwa n oAl

/ p ” £ xEa
s s ‘“—-{—Lg*fwl'..g/ﬂ_.tﬂ_)

Options :
n
1. ®
1
2. ® i
nZ
3. ¢
i
n?
4, %

Question Number : 88 Question Id : 8732655072 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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In L-S coupling, the total angular momentum (J) of an electron is
- 7 S ; o pgeid ey ¢ =
Ty T Jun T Ly K G 1 S Lo
Options :

The sum of spin and orbital angular momentum
< . s A
it Kol Bl it 515 Lo

The square root of sum of squares of spin and orbital angular

momentum s , T
Q{JJ’T}/&/&;&JWL{L!_{J s hp _aol ,.rl_,f

AL 27 a5 2

2. %

The product of Spin and orbital angular momentum

x ; i 7
23 ASE 5 7 kee Qs o lr o) L&
® z =

3.

None of the above

o RS

Question Number : 89 Question Id : 8732655073 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Raman effect is due to
& =
Options :

Molecular absorption

AV AR
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Molecular scattering

PR T

2. ¥

Refraction

L _slix))

3. %

Brownian motion

&_/;7 C{_""f 5

4. %

Question Number : 90 Question Id : 8732655074 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
The de Broglie wave length 4 of an electron with momentum *P’ is
P”‘:_M_/‘ZJLA**?‘/J[,}\/P‘J)}L;J/“&}( 'L,-.Ufc.“ﬁl
&
sy KOl 2 drw) 57

Options :
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Question Number : 91 Question Id : 8732655075 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

An electron is accelerated through a potential difference of 100V, the
de-Broglie wave length associated with the electron is

i op 13 5 09 D5 Ul L s tav SO L
___/Adj&_ﬁ-}):‘mdgjw.:f.d;jjj - ﬂ'zUL?'bJJ
Options :

1.227A°

1. ¥

1.9A°
IA"

1.5A"

4, %

Question Number : 92 Question Id : 8732655076 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following correctly describes the relationship between the
uncertainty in  energy(AE) and time interval(At), according to
Heiserberg’s uncertainty principle,

. L . r n ! }/ b

words (Gle S Sl s & S g
LMJAJL;JJ”Q}JJJP (M) L1y e EMA&-_&"/

agfjkiyfjih;EJdﬂ$i4x2’lﬁyﬁ;{lyﬂgg@{/9; 2

Options :
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AE x At = R/,
1. ®

AExAt= 0
2. %

AExAt < 1Y/,
3. %

AE xAt = P/,
4.9

g01.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 93 Question Id : 8732655077 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Zero point energy of a particle in one dimensional box of infinite height

15 .

1 . / A e S
e G U1 (30 a0 F 05 ol O ol b GS =

Options :

Zero

https://g01.digialm.com/CAE/viewHtmIPDFAction.action

68/114



6/13/24, 11:47 AM g01.digialm.com/CAE/viewHtmIPDFAction.action

& /‘Bmf;,*2

Question Number : 94 Question Id : 8732655078 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a nuclear reactor, the control rods are made up of

; 7 = i ‘
e o M2 e S8 D QU
O Qe L2

Options :
[ron
L
1. % - )g
Uranium
ey
2. ®
Plutonium
30k
3 %
Cadmium
4. ¢

Question Number : 95 Question Id : 8732655079 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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What is the Primary limitation of the liquid drop model?

_a_ryfgu_é‘,&g\@d sLeo U éj“"

Options :
It cannot accord for the strong force between nucleons.
solon S QUIY 155U 576l £ O UK s
T Lo

1. %
It cannot explain the stability of nucleus
[} ¥ r /f'
sl S S o0
2. ¥ )
It cannot describe the behavior of excited nuclei
~ ' / S oo S ~ whak
_ﬂwjg_;f_g/_:.é u;jd_ﬂq__jr; e O
U f o
3. % ' B
It cannot predict the rate of nuclear reactions
A - S B 3 "
0 4
e e
4. %

Question Number : 96 Question Id : 8732655080 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Quantum dots are
LI /

Options :
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Tiny conducting particles with size 2-20 nm.

QQJ&M}* i—f}ziag” 23 :.w[.,u_'::- 2~2e NM

1. %
Tiny insulator particles with diameter 10-30nm
- r
o Us Sl o L 2V s To-2onw
2. ®
Tiny semiconductor particles with diameters in the range of
2-10nm z o ;
5 ‘ s dle by 27O0nm
1S Qran(s == 1 4
3.¢¥
Tiny plastic particles
L. 1ya8 2 S My &g,
4. %

Question Number : 97 Question Id : 8732655081 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

10 nano meter is equal to
sy (o lawe 27 j_:,p)S Cio
Options :
107%m
1.

107 8Cm

107"m
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107
4.%

Question Number : 98 Question Id : 8732655082 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Super conductivity means
PYSTVENIVITEe )

Options :

The property of zero electrical capacitance in some substances at
very low absolute temperatures.

JML;/H-MQMJLLJJNfUM & — L:f
fw__d ﬂ‘»a..aats-d

The property of zero electrical resistance in some substances at
very low absolute temperature

. G""‘_"“M
J/_,-czﬁ/wf’w L2 g2 uaw’ u.LLﬂJ:’
a.gywﬂé-pg

2. ¥

The property of zero inductance in some substances at very low
absolute temperatures . R
sasp N Bl (33 L_/;M?/Wufi/’ﬂf?_ggy—m
By Tk

3. %

The property of infinite electrical resistance in some substance at
very low absolute temperatures.

M/u/@waAufjwauuﬂ FEPw
a.-QJ}’ >

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 72/114



6/13/24, 11:47 AM g01.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 99 Question Id : 8732655083 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Meissner effect occurs when, ‘
ol o e B A
Options :
A super conductor is cooled below the critical temperature

IA}_L;=_§U\J f(JJzﬂ(J.ﬂLJ}()ﬂﬁr)ﬁlJl
w_{Upr

1. ¢

A super conductor is cooled above the critical temperature

Ijﬁ/%ﬂ1aawdﬂLj)&f;ﬂ(_gill_j:
-0l

2. ®

A conductor is cooled be]ow the critical temperature
ks o = (8 db graa
Ao L

A conductor is cooled above the critical temperature

]uM/Jf!.:i(j/’d"‘a'r )rd"{*’ﬂJ
e L-(,J/

i

Question Number : 100 Question Id : 8732655084 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The key to the BCS theory i'%
- D L_?l;" P"/-LD J @( S ~
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Options :

The pairing of neutrons

;ﬂa{‘:f;”;u.’f

1. %
The comparing of electrons

L e o4

The pairing of electrons
L, g7 Fu 291

The pairing ol protons.

Y Sl

4. %

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 101 Question Id : 8732655085 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The oxide which can react with both acid and base 1s
' : A /A
e U1 (_J’Jbu,!/;f,\j‘uﬂ)’;’f‘-”f * a"
e Sge ol
Options :

PbO,

1. ¥

SO,

2. ®

NO

P40 10

Question Number : 102 Question Id : 8732655086 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the strong reducing agent from the following

T eSSl b s & S

#

Options :

Ce’*
1. ®

ol

2+
Fu
3. ¢
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Tb*

Question Number : 103 Question Id : 8732655087 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which impurity in germanium gives n-type semiconductor?

b oI —p 2 Sl Jom e
derer X (e

Options :
Carbon
Hr ¥
], ®
Phosphorous
2. ¢
Aluminium
Cetish N
3. % S
Boron
oL
4. %

Question Number : 104 Question Id : 8732655088 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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At 298K, the solubility of Bismuth sulphide is 1.0 x 10" mol L. The
solubility product of it at the same temperature is x x 107¥. What are x
and y respectively?

298
s G e2 0x10 Sep Hd7O et 3 298

Cpadrd gietnin S -
e Ld(){;a‘fﬁ? Y o a_.L _ &, XX

Options :

1.08,75

1. ®

1.08, 45

1.08, 73
3. ¢

8.1,74

Question Number : 105 Question Id : 8732655089 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following alkenes will be most reactive towards

electrophilic addition? y / A
s 2, Gt p Gopd
; e ] L] ,-);.U/CS&'; — - - e
Linerky wd b |
et o 2 — Y
Options :
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| % v’/
‘\\ -
P i
2. %
N
3 S
=
4. %

Question Number : 106 Question Id : 8732655090 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most effective in causing the coagulation
of ferric hydroxide sol?

2 :
! = ) & ‘ﬁ[/_/j}_})ﬂ a_.}_t'jtf__ﬁ

PO RIS sl d

Options :

NacCl
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NasPO,

2. %

Al (S04)3
P K;[Fe (CN)¢]

Question Number : 107 Question Id : 8732655091 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Adsorption of a gas follows Freundlich adsorption isotherm. The plot of
lagi and log P is a straight line with slope equal to 2 and intercept

equal to 0.3. The value nf—i at a pressure of 2 atm is (log 2 = 0.3).

=)
J_wjbg/(_?fiﬂ/w;bg/eoigw
_MLJJi_aT(g’ghwW‘L/ f

ik (A G *#Muw/;e
“ o oz ¢ EOA

’ua'P/"’an%
’/‘ ,"] - ,A_LT L

Bord i & B, Slendbe - B
- P 7w 7L
Options :
4
1. #®
8
2.
12
3. %
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18

Question Number : 108 Question Id : 8732655092 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The shift of an absorption maximum to longer wave length is called

LUy O Wb | @B 2 g | 5 ds) b

Options :
Hypsochromic shift
- SN Anr S J‘“; L,_
Hypochromic shift
p bJ';ﬂf/Jf’;’ L
2. %

Bathochromic shift

S L
L w2 B

3. ¢

Hyperchromic shift

4 S BT }L
FAPINBTERY

Question Number : 109 Question Id : 8732655093 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Determine the half life (¢1 !,2) for a first order reaction whose rate
constant (K) is 5.544 x 107351

2 (s (&) lo_ae s Lt s S
WEET R EY TUELS 1/‘,,@‘.7

Options :

255

1. ®

25 minutes
2. %

125 minutes

125 s
4.9

Question Number : 110 Question Id : 8732655094 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the order of a reaction whose rate equation is experimentally
determined to be r = K[A]?[B]! for a reaction A + B — products :

@/:wc-w,bm,;,wm Aag—s OB
A1 T o I<[ﬁj[:§uf}ww(y
S -

Options :

2
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1
2. %

0
3. %

3
4.

Question Number : 111 Question Id : 8732655095 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Of the following ions, which one is diamagnetic?
Q,(@\MLJLEO_!_IS: O/ 3N (-_'tfﬂé’)

-

Options :

Ti3+
1. ®

Cut
2. ¥

Mn2+
3. %

V02+
4. ®

Question Number : 112 Question Id : 8732655096 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With the increase in the atomic number, the radii of Ln3* ions
P € O LT S PNIT e ed
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Options :

Increase

e Luz>

1. ®

no change

|
2. = & i
Decrease
% r
oL Lz

3. ¢

Reach a maximum and decrease

b7 A L oy f ks
~* " cd ~

Question Number : 113 Question Id : 8732655097 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 10% aqueous (K, = 0.512°C.Kg/mol)solution by mass of a
non-volatile, non electrolyte solute boils at 100.22°C. The molar mass of

the solute is P /
r T ‘a 1o
JQ’JJ:GJ&/CU;QTMQJ/:’/S‘? B ; /
Tl Wiy v - 0
4 E R G*ﬁ”flrbk-a!m”)

Options :

258.6 gm / mole

1. ¢

232.7 gm / mole

2. %
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129.3 gm / mole

280.8 gm / mole

4. %

Question Number : 114 Question Id : 8732655098 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Wolf-Kishner reduction for the formation of hydrocarbons is the

H_Jd/j/w! alat 2 ..z(jwﬁua P2 T

Options :

Reduction of aldehydes and Ketones in the presence of excess
hydrazine and sodium alkoxide.

ks
//mﬁjumf'ﬂf(:;ﬂ/gltﬂjﬂ)wc
d/éoé/ﬂaw"’@ﬂ'm“f”’f

Reduction of aldehydes and ketones with amalgamated zinc and
concentrated HCl

o b bR = vl a1 “'**’J E r‘dﬁ

-4

Catalytic reduction of alkenes and alkanes

S Aol 5w ‘fﬁ P
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Decarboxylation of carboxylic acids

IS S Yo he ni Il

Question Number : 115 Question Id : 8732655099 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Carbylamine test is performed in alcoholic potassium hydroxide by
heating a mixture of

. Vs , AR
D T A AL
B 0’| V)2 s 2T N
Options :

Chloroform and a primary amine

M,U/ji}/;/,i (Lo

Chloroform and copper powder

u',);/fff;;i’/ul (UK

2. % ’
Acetic acid and a primary amine

-~
y AP Zar )
i Pl e

3. %

Chloroform and a secondary amine

(}‘pr Q‘,“Ji))! ({)‘!J)J/

4. %
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Question Number : 116 Question Id : 8732655100 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Preparation of a colloidal sol from a precipitate is called.

JJE ol Lip 3 b2 ot 0/

_ggc’“{ff

Options :
Peptisation
&R
2 s
1.¥
Dispersion
o o)
2. %
Coagulation
L&
3. %
Dissolution
ANF
4. % -

Question Number : 117 Question Id : 8732655101 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Optically active isomers but not mirror images of each other are called

@ru»&/r—ywu:ﬁ’qﬁm ﬁd‘@@;w

- - - gL
Options :
Mesomers

e pr

1. ®
Enantiosmers
F oy | '
c)//‘d"j” ' =
2. &
Diastereomers
i
u,-,{ﬂp}/:fw 105
3. ¢
Tautomers
Alv]
9 %)
. ,/_/

Question Number : 118 Question Id : 8732655102 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Molecules that lack symmetry element are optically active.
7 ( A7, (pP < u s
df-’(ﬁcgfb W RS o C{ Lg et Al A

-
Options :
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1. ®

Cn
2. ®

a
3. %

Sn
4. ¢

Question Number : 119 Question Id : 8732655103 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Direct halogenation of benzene cannot yield.

Mol e d s M_ﬁj,f'/j Il K
| - Ly

Options :

Fluoro benzene

¥ A s)sb

1. ¥

Chloro benzene

o vy
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Bromo benzene

/ﬂﬁ/"—?/"
3, %
Todo benzene
o
Y M9 23>
<

Question Number : 120 Question Id : 8732655104 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct in the case of Cannizzaro’s reaction?

~f 2 /"' - *M -
Y 4},{4 Z!-lj“",\...lmf_g ey & Canniggavodyrs

Options :

given by only those aldehydes that contain a-hydrogen

MJMMAJIJU(_V ~o 20

given by only those aldehydes that do not contain u~hydrogcn

2.¥
It is not a disproportionation reaction
: A g wE o
3. % B
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Characteristic reaction of only aromatic ketones

p JPAIG ) i VO R

4

Question Number : 121 Question Id : 8732655105 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Raman spectrum is based on the of electromagnetic radiation by
matter.

Jri aublae s A1 L e Loesd G4 D
I

Options :
Absorption
¥
1. % ' )
Emission

g Ls

Polarization

b

3. % .

Scattering

5 Laho

4.

Question Number : 122 Question Id : 8732655106 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

The infrared spectral selection rule for an anharmonic oscillator is

dﬂ/d@!yéﬂwfﬂj L/’Jﬁ’;}i‘g |_L; oy b

Options :

Av=0,=%1

2. %

Av=+1,4+2.4+3 i
3. ¢

AV =+1
4, %

Question Number : 123 Question Id : 8732655107 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Molar extinction coefficient or molar absorptivity in Beer-Lambert’s
Law

2 . A e ";__"L, L[,_ ‘

Options :

is characteristic of the substance and constant at a particular wave

length. . oo Pk
. A {_f}f/}!u._mlp (3 =t
Sisbo ) p) I :

e, 2
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Increases with increase in the path length

Lo /r

2. ®

Increases with increase in molar concentration

Decreases with increase in the path length.

& O:ZJ.::” inks U £ S

4. %

Question Number : 124 Question Id : 8732655108 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The otder of increasing wave length of absorption of different electronic
transitions is y
/ . ] —-t
s b g Lo 2
(.9"'3'%! (3,/1/-’ d’; : A; n . _S
Options :
No>n <A—T <N—6 <6—0C

1. #

* * * *
C—0 <N—0<AT—T< N—10
2.

L &® W *
C—=0 < T—IT<nN—ag<n—r=m

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 92/114



6/13/24, 11:47 AM

g01.digialm.com/CAE/viewHtmIPDFAction.action

w ¥ Ed ]
6—=0<N—0<N—0T<T—=7

Question Number : 125 Question Id : 8732655109 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Simplest carbohydrate is

e Coppit g Moyt v

Options :

Glucose

P

fructose
v B
/J"&J

2. %

Sucrose

. P~
2 A~

3. &

Glyceraldehydes

-5 4 : 4

v ? > CUJJ/-"

4.

Question Number : 126 Question Id : 8732655110 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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In the case of reversible isothermal expansion of an ideal gas,

Options :

AH=0and AU= 0

1.

AH>0and AUu< 0
2. %

AH < Q0and AU>0
3 %

AH > 0and AUu< 0
4, %

Question Number : 127 Question Id : 8732655111 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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For a hypothetical reaction P+2Q—R+S, the following reaction
mechanism was proposed.

P+Q—1+R (slow)
Q+1— S (fast)
“I” is an intermediate. The rate law expression is

&@UJ;:*&J’&LAG@/}/‘ Frag —o R+
c,((_,a C;,.Auj/(;._p

Pr&=->TF +RC Zuw)
AQ+17 S8 ey
Cﬂ*’»-*'/w afﬁw/,.s*-*"-'"j

Options :

Rate = K[P] [Q]*
KCPIT6D = TS

1. %
Rate = K[P] [Q] [I]
_KCPIBIE T

Rate = K[P] [Q]’[I]

, keondt-g
Rate = K[P] [Q]
KR aE &

4.

Question Number : 128 Question Id : 8732655112 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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In a job’s plot the mole fraction of metal corresponding to the maximum
absorbance for the formation of ML, complex is

2] } [ o 4 / L k’
(ff;fé‘;1w//‘j£)@‘?,i ‘—-’]" 'é"é'oi-,;‘ﬂ Mo
— s (,. ;‘
L, sz;w;ff/gq‘ﬁ
Options :

2.00

1. #

0.50

2. ®

0.66

0.33

4. ¥

Question Number : 129 Question Id : 8732655113 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The expected spin — only magnetic moments for [Fe(CN)s]* and [FeFg]™
respectively are y -
2 [FeE ) [P Cam 4T
~5 Yoo S £ (FeRT s
= Sl _ w,od
Options :
1.73 & 1.73 BM

1. ®

1.73 & 5.92 BM
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592 & 0.0 BM

3. %

0.0 & 5.92 BM
4. ¥

Question Number : 130 Question Id : 8732655114 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Trans-[PtCl,(NHz),] is treated with thiourea (tn). The final reaction
product is

o pld = (0 Ly s Trows [k (v, ]
¢ Lo W ple ¥ 65T D2

Options :

[Pt (NH3)a]*

[Pt (NHS), (tu),] =

2.¥
[PtCly(tu)s]
3, %
None of the above
. d
(i G _:o’/
4. %

Question Number : 131 Question Id : 8732655115 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The osmotic pressure of a dilute solution is directly proportional to

_ wd
t!’"i“'-f“”wf—-w:'ﬂ;‘sbgyb Ve Ul 6
- —
Options :

Elevation of boiling point

lonic concentration

J}Kj‘/rg}‘fs)

Flow rate of solvent

Ly gV

3. %

Diffusion rate of solute

g 23500 T 0 SE

4. %

Question Number : 132 Question Id : 8732655116 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following reaction can be used for the preparation of
alkanes.

w s
ey J@;&umia_{»;mgg .01
r R

Options :
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Corey — House reaction

g ok

1.

Wurtz-Fittig rf::actinn

. gt
Il 3!

2. %

Kolbe — Schmidt reactmn
3, %

None of the above

1 L 7
G

4, ® -

Question Number : 133 Question Id : 8732655117 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When a ketone is treated with H,O, or a peracid a formal insertion of
oxygen can take place to yield a carboxylic ester. This reaction is called

&fj’?/ 2 S STl 2 Hag M
—O”Lfdﬂbﬂﬂid/bjgcf ks &

Options :

Bayer — Villiger Oxidation

d’ﬁw /t-_:u‘(’rﬂﬂ‘-rcrr\i“lt:jtt

1. v
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Kolbe — Schmidt reaction
Aol Kotbe- Schmick

2. %
Perkin reaction
IREEA
3. %
None of the above
2GS
4. %

Question Number : 134 Question Id : 8732655118 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Langmuir adsorption isotherm is deduced using the assumption.
¥4
c..-L"f‘,LMf &&»Kﬁfmq,{/l )Lm J//JJ/M’ 2. cJ’}

Options :
The adsorption takes place in multi layers

e
o 2 o w o SJ 0 T
el @' 7 Cus Qo o8 1A

The adsorbed molecules interact with each other
- o £l Gf" ‘:
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The heat of adsorption varies with coverage

Lﬂ'é‘rﬂ”‘” _J,J/JLJM?
a_r(_;:r-’)f

The adsorption sites are equivalent in their ability to adsorb the
particles.
l ~ ~ ]
@J’J(_'{/q_sijv’ ‘ulﬂwﬂ-ﬂ}'

Question Number : 135 Question Id : 8732655119 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Using valence bond theory, predict which of the following complexes
doesnot have tetrahedral geometry

AL fES>

-~ ,ﬁ
o bo s /:f/ﬁ)/“"iﬁ“}u-/"
_EJ ,

Cjﬁ“d—‘f G'/J"}"?

Options :

Ni(CO)4

[Ni(CN)]*

2. ¥

[NiCl]*

MnCl,
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Question Number : 136 Question Id : 8732655120 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The correct order of the pKa values for the conjugate acids of the
heterocyclic compounds given below 1s

T /’,;"),JL? U-“JW/U‘: ‘:“‘PCP:‘;
J_;éﬁugu.yp ,oK,,L_?QJ"”_/‘W‘;‘_

[y Y B

| 7
N N
| ~ :
H H e
I il B
Options :
I>MI>1>1V
1. ®
IV>1>11>1V
2. %
M>>IV =>1
3. ¢
Mm=>1v=I1>1
4. ®

Question Number : 137 Question Id : 8732655121 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Which of the following has the minimum gold number?

Lo/ 245K 5w S b0l Or >

- o rle
Options :
Starch
I
1. %
Sodium oxalate
2. %
Gum Arabic
V4
patt S
3. %
Gelatin
' b
4.

Question Number : 138 Question Id : 8732655122 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Aryl halide is less reactive than alkyl halide towards nucleophilic
substitution because of

Mwiﬂédﬁiwﬂmdﬂ#gﬁf{ﬁ;
/\J&Jdlr «C}"’_;_,Ndﬁl.exﬁ}r' zfA:JJdef’/t

Options :
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Large C-X (X=halide) bond energy
3 ; 5 L
Uy Ciid b e x ) eox 1

1. ®

Less stable carbonium ion

v . r 4
Ol Y Al

Inductive effect

4 -
Aoy »
3. %
Resonance stabilization sp” hybridization of C attached to halide
- 2 N B 2200
Liar ] Sp (_}f’c e N o ) T L ".f”Jf
. -y d
~Cp ki d S8
4. ¢ o

Question Number : 139 Question Id : 8732655123 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following gives a positive idoform test?
o = 2 I '
o Gocwn Clas st Swe v owe Jr 5
( — - -— —
Options :

1-Propanol
Sl -
2
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2-Propanol

s F- =
2. ¢

Methanol

Misur

3. &

All of these

T

o fle

Question Number : 140 Question Id : 8732655124 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Perkin reaction is catalyzed by

P 0 o1t AR e
I LS8 L

Options :
NaOH
1.+
HCI
2. %
NH,CI
3. %
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Pyridine
A
o234

4. %

Question Number : 141 Question Id : 8732655125 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hell-Volhard-Zelinsky reaction is used for the preparation of

o 7 (fur | RIS Mol Nohard Zelimsky
Gp £ L]
Options :

a-halo carboxylic acids

éij J/-; ,{ Ly k‘)f !{ ~ o

1. ¢

Mono carboxylic acids

= r 7 l./}L !nf .

S MR Y

2.

Dicarboxylic acids

, J1 L
3. %

Hydmxyl acids
4. ®

Question Number : 142 Question Id : 8732655126 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 106/114



6/13/24, 11:47 AM g01.digialm.com/CAE/viewHtmIPDFAction.action
Correct Marks : 1 Wrong Marks : 0

Grignard reagent undergoes
- 4 - |
Ly L/J.{-::ﬁ" — Jrlews g‘ﬁqmw’

Options :

Nucleophilic substitution

1. #
Nucleophilic addition
Qs Ay ) o
2.¥
Electrophilic substitution
/
J o A,
3. %
Electrophilic addition
e/
q;{ _il.u 2D
4, %

Question Number : 143 Question Id : 8732655127 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of peaks or signals in 'H NMR of N,N' -dlmethyl formanide
at 25°C is

25,
Hrvmp z{»»bﬁ,f Cj”w“” )'NH/ ;“
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Options :

1
1. ¥

2
2. %

3
3.

4
4. ®

Question Number : 144 Question Id : 8732655128 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The amino acid synthesized by Strecker’s method using acetaldehyde is

) % 5% £z -t L
&/f“ﬁfedf(sefl = o} J;,J/JL‘U—/I S G e
I O

Options :

Valine

o
], ®

Alanine

=)
2.
Leucine
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Glycine

4. %

Question Number : 145 Question Id : 8732655129 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following the major product obtained in the reaction below

is
P~ S
d,&u:rr’lc:ﬁ Can oo e LY Lo
m———- t + —
Ch,
RS (1) NaNH;
l -
(/ (1) CH;B:
CH,
Options :
HyC &
I = Q\cﬂs
N’fj CHy
1. ®
-
3

R CHy

/.ﬁ""

N CHy
2.
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CH;
X
HyC N e,
3. %
CH,y
B
N*f CH
i- Br 3
CHy
4, %

Question Number : 146 Question Id : 8732655130 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

At 291K, the molar conductivities at infinite dilution of NH,Cl, NaOH
and NaCl are 150, 250 and 100 ohm™' cm® respectively. What is the
molar conductivity of NH4OH at infinite dilution at this temperature?

Wy G kI Nl st MU T NASH 0 2K
@ﬁaﬂ/11/5%,25'a @;PC_{'M_MJJJyQ’}} r/;:'
ULy G U (5 thyon A, P o) - b Foct
— o S Calwo oo 5 Vs

Options :

50 ohm™' ¢m?

200 ohm™ cm?

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 110/114



6/13/24, 11:47 AM g01.digialm.com/CAE/viewHtmIPDFAction.action

300 ohm™' cm®
3.

None of the above

O»‘;:_‘}OQ_" (j ;”/

4. %

Question Number : 147 Question Id : 8732655131 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Michaelis and Menten derived their equation using the following
assumption : £ Lo
.. - Lo 3 Gunr_sot 5=
, ol lwnti] Y ,
g §32p0 I EE LT
e Arl e & S

Options :

Rate limiting step in the reaction is the breakdown of ES complex
to product and free enzyme

MVze 7 fud 27203, sapp e OE )
y b
)_{;’f’/;’:_,uxl_#gbér,y Lot et 2 -
P Y N

1. ¥

The rate-limiting step in the reaction is the formation of ES
complex.

Vs T i d 2o s i ap o A5
7 .a_u;_fd___i:w«f
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The concentration of the substrate can be ignored.

e B g S e ol

3. %
Non-enzymatic degradation of the substrate is the major step
G fpt 2l ot B gl
~ ﬂ_‘r /\Jf__/-—-'
4, %

Question Number : 148 Question Id : 8732655132 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The oxidation state of Rh in (NH,); RhClg 1s

C_)Jlf({),_ﬁd/ .QL, (_iif‘“ (NHQ)_?,JQHCJ;

Options :

+1
1. ®

+2

+3
3. ¥

+6

Question Number : 149 Question Id : 8732655133 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The O, binding efficiency of hemoglobin is maximum at pH

Cwibe fuin & (o sl 1L Craon

Options :

6.8

1. ®

7.0

7.2

74

Question Number : 150 Question Id : 8732655134 Question Type : MCQ Option Shuffling : No Display

VoA g r -
co SR QA Ly Do S P

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of NMR signals observed in the following compound is

Options :

3

LA S i PR T Y S
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4

2.

5
3. 8

6
4, %
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